C:h Rewriting Expressions

Name:

Rewrite each expression in itssimplest form.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

(7oA +13) - (74A +9)
(Vi -9) - (VP +13)
(74P-17) - (VogP- 13)
(VW +14) + (YW + 4)
('Y,B-10) + (7B +18)
(M -5) - (YgM +19)
(*V1oC-19) - (/1oC-6)
(ZYpeH +15) - (VeH - 17)

(Vv -12) - (v -8)

-(1/6Z+5)+(5/6Z+15)

Answers

10.

C
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ﬂh Rewriting Expressions Name:. Answer Key

Rewrite each expression in itssimplest form. Answers
Y (ar13)-(ZA+0) L SA
VoA +13-7A -9 L S22
) ( 9/10': -9)- (40/50F +13) 3 5/20P'4
YeoF-9- V- 13 . /W-10
K (74P-17) - (VogP- 13) o /B8
N ooP - 17 - VogP + 13 L/ M-14
Y (Taw 14y« (Fw ) r - /aCr25
-1/8W -14 + 6/8W +4 8 y osH+2
¥ (YYB-10)+ (7B +18) o - /V+20
-10/153 +10 + 5/153 +18 1 4/62+1O
¥ (M -5)- (M +19)
YoM +5-275M - 19
D (®Y1sC-19) - ( /yoC-6)
2 oC+19- 7, C+6
Y (Yt +15) - (YeH - 17)
e - 15 " VpeH + 17
¥ (Vv -12)- (Yo - 8)
AN +12- TN + 8
o -( 1/62 +5) +(5/6Z +15)
iz -5+ 7z +15
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